	No. – site bills	Τ	396		Date Regi	e - site b	nills	08	06/2021
register Company Name:			MRALLP Site			A STREET AND A S			R
	me of Contractor	+			cho	ndrg			
Nat	ture of work		A REAL PROPERTY AND INCOME.	m	The state of the s			and a second	
Wo	rk done	Fro	m Date	and the second se	2.5.2	, T	o Date	06	.06.21
SI. No.	Villa/Flat/block n	0.	Qty.	Ra	which the processing the state	Units	Amou	nt	Contractors bill no
1.	A-209								
2.	SBA 1300 44 (67.1.)	911	St	-	13	111	843	
3.	skata 1187.2	/	245	×8	r	13	31	185	
4.	(200)H Por tot		200	Yf	F	16	61	400	
5.	Kitches villey		80	H		14	1,120		4
6.	4/2167. (Bu	B)	911	SHF		4	3,644		
	4/2' SKM (18"	1)	245	YH	-	4	9	50	
8.	•			1					Y.
9.						in the de			
10.	<u></u> т.	tal:			86 ¹¹ 11		- 17	172	
11.		1.1	ES JINO.	<u></u>	GSTH	oill requi		YES E	NO.
	•				$(j_1, \dots, j_n) \in \mathbb{C}$	irement d	- († 1	Enclos	
			quired t required						
PO/W			t icquired		PO/W	O date:			
Remar	thes: Httl 1	Jort	c_{3} (on	plete	4.			
				1. 1. 1.	1. A.	_/			
								Y	- And
				4					
		, , , ,			- Da-i-	Term	A	oved by I	V D
	ed by Project Man		Approv	ea by	Design				
Date:	08.06.121	2	Date:	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			Date:		3.
Sign:	1	Sign:	Sign: Sign:					13.0	

Construction division. Advice for giving credit to contractors/suppliers.

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, carth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

1				the second s		
MRMLLP				Appr	oved by:	Ramprasad
Gulmohar Resident	cy					
Vetrified Flooring	and Bathroom tiles in 1360	sft flats at A-	block			
Ramesh Chandra						
P.Sai Kumar						
08.06.21						
			2.5.7			
Item Head	Item Description	Quantity	Units	Rate	Amount	
A-209 flat	SBUA 1360sft (67%)	911.00	Sft	13.00	11,843	
	Skirting 18%	245.00	rft	13.00		
	(200sft per toilet)	400	Sft	16.00	6,400	
Ceramic	(80sft per flat)	80	Sft	14.00	1,120	
4' X 2' tiles	SBUA 1360sft (67%)	911	Sft	4.00	3,64	
4' X 2' tiles	Skirting 18%	245.00	Sft	4.00	98	10
					27,17	12
					1	
					- Ann	· · · · · · · · · · · · · · · · · · ·
					1	
	MRMLLP Gulmohar Resident Vetrified Flooring Ramesh Chandra P.Sai Kumar 08.06.21 Item Head A-209 flat Ceramic 4' X 2' tiles	MRMLLPGulmohar ResidencyVetrified Flooring and Bathroom tiles in 1360Ramesh ChandraP.Sai Kumar08.06.21Item HeadItem HeadItem DescriptionA-209 flatSBUA 1360sft (67%)Skirting 18%(200sft per toilet)Ceramic(80sft per flat)4' X 2' tilesSBUA 1360sft (67%)	MRMLLP Gulmohar Residency Gulmohar Residency Vetrified Flooring and Bathroom tiles in 1360 sft flats at A-Ramesh Chandra P.Sai Kumar P.Sai Kumar 08.06.21 08.06.21 Item Head Item Description Quantity A-209 flat SBUA 1360sft (67%) 911.00 Skirting 18% 245.00 (200sft per toilet) 400 Ceramic (80sft per flat) 80 4' X 2' tiles SBUA 1360sft (67%) 911	MRMLLPGulmohar ResidencyVetrified Flooring and Bathroom tiles in 1360 sft flats at A-blockRamesh ChandraP.Sai Kumar08.06.21Item HeadItem DescriptionQuantityUnitsA-209 flatSBUA 1360sft (67%)911.00SftCeramic(80sft per toilet)4' X 2' tilesSBUA 1360sft (67%)911Sft	MRMLLPApprGulmohar ResidencyVetrified Flooring and Bathroom tiles in 1360 sft flats at A-blockRamesh ChandraImage: Stress of the stre	MRMLLPApproved by:Gulmohar ResidencySign:Vetrified Flooring and Bathroom tiles in 1360 sft flats at A-blockSign:Ramesh Chandra9.Sai KumarP.Sai Kumar9.Sai Kumar08.06.219.Sai KumarItem HeadItem DescriptionQuantityUnitsRateAmountA-209 flatSBUA 1360sft (67%)Skirting 18%245.00(200sft per toilet)4004' X 2' tilesSBUA 1360sft (67%)911Sft4' X 2' tiles

Company Name:	MRMLLP					Approved by:	Ramprasad		
Project	Gulmohar Residency					Sign:			
Work Description	Vetrified Flooring and Bat	hroom tiles in 1360 sft flats at A	A-block						
Contractor Name:	Ramesh Chandra								
Prepared By	P Sai Kumar								
Date:	08.06.21								
			Α	В	C	D	E = AxBxCxD	F	
S No.	Item Head	Item Description	Length	Width	Height	the second se	Quantity	Units	
1	A-209 flat	SBUA 1360sft (67%)	911.00	1.00	1.00		911	sft	
		Skirting 18%	245.00	1.00				Rft	
		(200sft per toilet)	200.00	1.00					
	Kitchen & utility	(80sft per flat)	80.00	1.00	1.00	0 1.00	80	sft	
		S		с.					
			300 B	an a					_
									×
					2				
					4				
			At the second se						
ġ.,		1							
				1. 11. 1					
		1							
			- u).						

Allowance for Consumables

Ramesh Chandra, Orissa.

Date: 08.06.21

In favor of:	MRMLLP
Project / Site:	Gulmohar Residency
Location:	Mallapur

Type of Work: Towards:

Tiles work Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Tiles laying work in A- 209. Total Amount = 27,172/- Work done from date 30.05.21 to date 05.06.21	Rs.5,434 /-

Amount in words: Five Thousand Four Hundred and Thirty Four Rupees Only.

Samelh Sign: 🛧

Bill for Equipment Allowance

Ramesh Chandra, Orissa.

Date: 08.06.21

In favor of: Project / Site: Location:

MRMLLP Gulmohar Residency Mallapur

Type of Work:Tiles layingTowards:Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done: Tiles laying work in A- 209 flat. Total Amount = 27,172/- Work done from date 30.05.21 to date 05.06.21	Rs.10,868 /-

Amount in words: Ten Thousand Eight Hundred and Sixty Eight Rupees Only.

sign: Rometh

Bill for Labour Charges

Ramesh Chandra, Orissa.

Date: 08.06.21

In favor of:	MRMLLP
Project / Site: Location:	Gulmohar Residency
Location;	Mallapur

Type of Work: Towards:

Tiles Laying Labour Charges

S No.		e de la companya de la compan
1.	Description Brief description of work done: Tiles laying work in A- 209 flat	Amount
	209 flat . Total Amount = $27,172/-$ Work done from date $30.05.21$ to date $6.06.21$	Rs.10,868 /-

Amount in words: Ten Thousand Eight Hundred and Sixty Eight Rupees Only.

Sign: Ramelth